R4FTH] R+ A ATEH

HEA EEE Bk %2 %rs %4 %5 %6 %7 % R
SRR AR BN) 5 (880 | ss0 | |Ess0 | oo [Eoo Moo oo |MEoo |00 |
BSR4y T2 (3N) s HEs |lET (Es || [Ess || lEs | ETG O lEEsE (EETS | ET |
BEHREBRE T3 (2N) 2 [Eo0  |4c0 oo |@Eoo |Eoo  |@oo @0 Moo @m0 |
HUTE T 1 (IN) 13 [SEe | S5 | sZe | IEE2 | S | Es2 | IETT || Eie | ser |
£ (0% (1IEMAN) 57 |S6s | E51 | EE7 | ses | s | IS5 | Iss0 | IEEE | | ss0 |
BEHRAE 2 RE 2N) 6 [HEs |IEs |Es (|lEs (EEsE (EEs (EE | Es | s |
B (2N) S Al Gamy oAl oAy Ay Ay Gamy oaamy oA
B ERERE 2N) 6 |HSE | ss50 | ss7 | s |sEs |EEs | Ess || s | sss |
AR ERE(IN) n EE ||lEs | S | IEE | EEe | EsT | e | Es | Il |
7% I G3N) 5 |(IS80 | oo |20 | @00 S0 | IS0 | ISs0 | IEEs0 || sk |
175-7797 A(23N) 1 800 ] |Eoo  |Zoo |00 | Eo0 Moo |@Eoo |@Eoo |00 |
HYTF ¥ 4711 (2N) s [IEE | s | s00 | B0 | .00 |
EREEFB(LEN(A)) 7 s |ET | [Es | ET | ETT | EsT | s | s |
BT HiERBN) s BT | ISsEE | BE7 || e | s | s | Esoo |
BT H&L%(3N) s |IS3E | Iso0 | EE | Ess0 | EE0 | IS0 |
BT HER(IN) 6 S |Ss |EsE |SEsE: |EE EE EE ||Ess | s |
BEHFRN) 3 o0 |SeT | BEs7 | oo a0 Moo |@Eoo |SET |
EEEpERY | (IN) 3 500 |
BEFZRISE(2N) 6 [ISE | BEs7 | e | EsET | EeT | EEsT | EEs0 | | Ess |
FERLER (2N) s W75 | S | ETs | |Sss [|ssEs |sE: |sE: | s | Ess |
BEEFIE | QN) 5 |(HSs0 | s20 | FSZ0 | S0 | SE0 | s60 | SE0 | ss0 | s |
BEHFRN) 1 oo |@Eoo  |Eoo  |Eoo |40 oo |@Eoo |@Eoo |00 |
WE 140755 (IN) 1 oo |Eoo  |Zoo  |Eoo |40 |Eoo |Eoo |MEoo |00 |
U7 TGN 2 [BE50 | S50 | oo S50 | @SE0 | e @0 (Moo |@Eoo |
BEHFN) 2 MBS0 ] IES00]| (Soo]| |MSE0 | |MSE0 | EE0 | IESs0 | EEEs0 | s |
BT H0 9T N) 5 IES60 | MSo00 | |MFSo0o | [SE0 | SE0 | ESs0 | WSs0 | Ss0 | Ao |
BIETHEE | GN) s W75 | S50 | IETs | |ET5 || Sss |00 [MEoo Moo Sl |
HR T2 ER(N) 13 [SZe | IS5 | ISz | s | ST ST | ST || e | see |
EB TP ERBEHRATER) N) A  aml aml Tamy  amy O aml O oamy O Tamy  amy e
7y B (|HES (ES (lETC  (EST  (EST O lEsE (ESs eS|
2B (|HEG S (B EEe EET (R T O T




